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[C HTIEFRBDHEZEZTFHULD PV T2 BSRS
@M 5.754 = 1 X + 0.1 X
+ 0.01 X + 0.001 X

@ 91.86 = 10 X + 1 X
+ 0.1 X + 0.01 X

® 177.7 = 100 X + 10 X
+ 1 X + 0.1 X

@ 5.188 = 1 X + 0.1 X
+ 0.01 X + 0.001 X

® 7.515 = 1 X + 0.1 X
+ 0.01 X + 0.001 X

® 375.8 = 100 X + 10 X
+ 1 X + 0.1 X
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[ HTIFFRBDEZEEZEZTFHLLD PV T2 BSRS
D 5.754 = 1 X| 51 +01 x| 7
+ 0.01 X | 5 + 0.001 x | 4
@ 91.86 = 10 x| 9 + 1 X |1

@ 177.7 =100 x| 1| +10 X |7

@ 5.188 = 1 X151 +01 Xx|[1
+ 0.0T x| 8| +0.001 x| 8
® 7.515 = 1 x| 71 +01 x |5

® 375.8 = 100 X | 3| +10 X |7
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